wy bR 48 i . . .
Q @ a@o vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
I 1 3 3 I 1 1 2
—F —— =X == —— =X == — =
4 3 4 5 5 2 3 5
l-l-gx%-i—g: 16x§+2—%:
2 5 5 3 2 5
1+ +3><1— +5><1—5—
5 4 4 5

I 2 1 3 1 1 3 3
—+ - xZ= -t x4+ =
4 3 4 4 S5 2 4 4
LV 2 i4x2ige
4 3 2 3 5 3
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vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
1 1 3 3 2 1 1 1 2 11
StraxI= s s = ()

4 3 4 5 15 5 2 3 5 30

1 2 2 2 199 49

—t Xt e=—=1— 16><§+2—g=§=11E
2 5 5 3 150 150 2 5 5 5
1 3 1 47 1 1 9

— 4+ Ix =~ — 45X - =5=__

5 4 80 5 20

1 2 1 3 35 1 1 3 3 53 13
4+ - xI == x4+ ="=1-=
4 3 4 4 48 5 2 4 4 0 40
1 1 1 5 2 16 1
-t - =X == — —t4X —+4=—=1—
4 3 2 3 12 5 3 15 15
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